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QUESTION 1

Which of the following application layer protocols is based on UDP?
A.FTP

B. Telnet

C.TFTP

D. HTTP

Correct Answer: C

QUESTION 2

What is the telephone exchange system? (single choice)
A. Circuit switching

B. Message exchange

C. Packet switching

D. Handshake

Correct Answer: A

QUESTION 3

During the PPP negotiation process, if no response packet is received from the peer within the interval of the negotiation
timeout, PPP will resend the previously sent packet. Such as Configure- Request. By default, how many seconds does
the PPP negotiation timeout?

Al

B.2

C.3

D. 4

Correct Answer: C

QUESTION 4
Which of the following is incorrect about the Learning state in the Spanning Tree Protocol?

A. The port in the Learning state can send and receive BPDUs.
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B. The port in the Learning state can learn the source MAC address of the packet.
C. The port in the learning state only learns the source MAC address and does not forward data packets.
D. The port in the Learning state can forward some data packets.

Correct Answer: D

QUESTION 5

What is the correct statement about the trunk port? (multiple choice)

A. trun4 port can forward data of multiple VLANs

B. The trunk port has only one PVID.

C. trunk port can be used to connect to the port of the user\\'s computer
D. trunk port cannot receive data with tag

Correct Answer. ABC
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